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IBM C2090-012 : Practice Test

Question No : 1

In the stream below, the CHAID node and Neural Net node can be combined in a single
Super node.
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A. True
B. False

Answer: B

Question No : 2

The Matrix node is used to examine the relationship between two categorical fields.

A. True
B. False

Answer: A

Question No : 3

Which node is used to read data from a comma delimited text file?

A. Var. File

B. Data Collection
C. Fixed File

D. Statistics File

Answer: A
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Question No : 4

Which fields are created by this Derive dialog?

Mode: ) Single & Multipte

Cerive from:
& Travell
& Travel2
& Traveld
&> Traveld

Field name exension: |_EEan5e Addas. @& Sufix O Prefix

Cerive as: Formula: @ = TIP: Refer to selecled fields by using @FIELD

Fielatpe (& Defauts < |

Formula:
idale_weeks_difference(AcctiEst @FIELD) L;‘%J
i ok 1l | cancel| | Appiy | | Reset]

A. Three fields representing the difference between Travel-1 and each of the other Travel
fields

B. No operation will be performed because the expression is invalid.

C. Four fields representing the difference in weeks between AcclEst and each of the Travel
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